Table 4 : Steam main sizing base on pressure drop

18 7 7 T I 7 R
J
— F ri
10 o m# 4 .: l' . f'l :. ‘;'
.l"l Fd
5 4 rAmy Vi
F i F i { i
=) 3 i 11t '@r: AT F')# ATl §
S 2 J A 7 17 £
= 7 7 L - 7 J‘"?’
E 15 SRy £ TATATi AT, =r.a
8‘ n-sr 4 r i r & r .:‘: o " -
S =
= 03 E immr i 7 FAT A SR8V -
® D
E n-z r — - " 4 T
7 FE= -7' ! 4 I ;:} o 7
0 —— 4
£ O e e
- 4 Fiw i ri F i
0.05:‘- } pi e ve S
1
0.02 Efer A A f
Fi 1 1L X ¥y
0.01 5=/ 2+
Steam pressure . R L A S & Y, /
J ri
| /| I/
ri ri
s / it
| TAV I .1 APV a
_f"' (L I - f’ _H Fi !ljv)* ri
1 Fi FATITA ATATAV .V
. g i ‘f IV il | £ Vi
H . 'l'[l 1 y Fird
ATAW W T i ] 7
7 lp/l 77
f [FiVi “'l
- fat—
A s
TN 'S Ari FAN |
B
‘ 1-H DY
I’ / / s e
/ TATAVIV r,
1 ’f ;F _1’ ly
- HAEA A f Vi
A :‘g" FA' AV IV
rd Fi I! [ I /
A 1
N I VTAV T TAVNIN S, 7

100°C  200°C  300°C 400°C 500°C

Steam temperature

Example
Determine the pressure drop when 10000 kg/h of saturated steam at an initial pressure of 10 bar g

and a temperature of 184 L C flows through a 150 mm pipeline.
Step 1 : Using Table 2, draw a vertical line from 184 C on the steam temperature scale (Point A) up to
10 bar g on the saturated steam scale, Point B.
Step 2 : From point B draw a horizontal line across to 10000 kg /h on the steam flow rate scale, Point C.
Step 3 : From Point C draw a vertical line up the 150 mm line on the inside pipe diameter scale, Point D.
Step 4 : From Point D draw a horizontal line across to the pressure drop scale, Point E. In this case the
pressure drop will be approximately 0.4 bar per 100 m length of pipe.
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